## CITY OF RAPID CITY CONSTRUCTION CHANGE ORDER #1F LOCUST ST. & FAIRMONT BLVD. WATER MAIN RECONSTRUCTION

## PROJECT NO. W09-1813 / CIP NO. 50766 SEPTEMBER 22, 2009

ORIGINAL CONTRACT AMOUNT: \$21,392.00 CONTRACTOR: MAINLINE CONTRACTING, INC

LINE	DESCRIPTION	UNIT	CURRENT CONTRACT QUANTITY	UNIT PRICE	EXTENDED PRICE	ADJUSTED QUANTITY	ADJUSTED PRICE	NET CHANGE
	MOBILIZATION	LS	1.00	\$1,300.00	\$1,300.00	1.00	\$1,300.00	\$0.00
	INCIDENTAL	LS	1.00	\$6,533.00	\$6,533.00	1.00	\$6,533.00	\$0.00
3	REMOVE WATER MAIN	LF	78.00	\$5.00	\$390.00	63.00	\$315.00	(\$75.00)
4	REMOVE PCC SIDEWALK	SF	160.00	\$1.00	\$160.00	105.00	\$105.00	(\$55.00)
5	SODDING	SY	40.00	\$12.00	\$480.00	0.00	\$0.00	(\$480.00)
6	MULCHING	SY	270.00	\$3.00	\$810.00	400.00	\$1,200.00	\$390.00
7	8" PVC WATER MAIN C-900, CLASS 150, CERTA LOK	LF	76.00	\$64.00	\$4,864.00	61.00	\$3,904.00	(\$960.00)
8	12"X12"X8" TEE AND 4 LF 12" PVC WATER MAIN, C-900, CLASS 150	LS	1.00	\$1,475.00	\$1,475.00	1.00	\$1,475.00	\$0.00
9	CONNECT TO EXISTING WATER MAIN	EA	3.00	\$890.00	\$2,670.00		\$2,670.00	\$0.00
10	TYPE 1 BEDDING	Т	10.00	\$13.00	\$130.00	0.00	\$0.00	(\$130.00)
11	TYPE 3 FOUNDATION MATERIAL	Ţ	10.00	\$25.00	\$250.00	0.00	\$0.00	(\$250.00)
12	9" WATTLES	LF	50.00	\$5.00	\$250.00	0.00	\$0.00	(\$250.00)
13	EROSION CONTROL, INLET PROTECTION	EA	5.00	\$60.00	\$300.00	4.00	\$240.00	(\$60.00)
14	CONCRETE SIDEWALK, 4" NONREINFORCED	SF	160.00	\$7.00	\$1,120.00			(\$385.00)
15	DETECTABLE WARNING PANEL	LF	10.00	\$40.00	\$400.00			(\$400.00)
16	TRAFFIC CONTROL	LS	1.00	\$160.00	\$160.00			\$0.00
17	TRAFFIC CONTROL PLAN	L,\$	1.00	\$100.00	\$100.00			\$0.00
18	5 LF OF 16" DIA STEELE CASING	LS	0.00	\$1,935.98	\$0.00	1.00	\$1,935.98	\$1,935.98
19	8.06 SY CONC. FILLET	LS	0.00	\$892.17	\$0.00	1.00	\$892.17	\$892.17
	TOTAL				\$21,392.00		\$21,565.15	\$173.15

C.C.O. HISTORY INCREASE/(DECREASE)		PRIOR ADJUSTED CONTRACT PRICE:	\$21,392.00
CCO #1F	\$173.15	NET INCREASE/(DECREASE):	\$173.15
	, · · · · · · ·	ADJUSTED CONTRACT PRICE:	\$21,565 <i>.</i> 15
		CHANGE TO DATE:	\$173.15

(1/1//		
hight L	10/6/09	
CONTRACTOR: Mainthe Contracting Inc., PO Box 3448, RC, SD 57709-3448 348-7068	DATE 19/2/09	
PROJECT MANAGER: KLARE SCHROEDER, P.E.	DATE	
Hell Ill	10-2-09	
CITY ENGINEER: DALE TECH, P.E. / L.S.	DATE	
MAYOR: ALAN HANKS	DATE	
FINANCE: JAMES PRESTON	DATE	
CONTRACT TIME CHANGE +/-: 0 NEW CONTRACT TIME: Days		

City Staff recommends approval of this Change Order #1F to Mainline Contracting Inc. for an increase of \$173.15 based on unit pricing with the following appropriation:

Initial Funding	\$21,392.00	\$21,392.00
Fund Type	Water	
Department	0933	
Line Item	4381	
Fund	0602	
CCO #1F	\$173.15	\$173.15
Adjusted Funding	\$21,565.15	\$21,565.15

## CITY OF RAPID CITY CONSTRUCTION CHANGE ORDER #1F LOCUST ST. & FAIRMONT BLVD. WATER MAIN RECONSTRUCTION PROJECT NO. W09-1813 / CIP NO. 50766 SEPTEMBER 22, 2009

ORIGINAL CONTRACT AMOUNT: \$21,392.00 CONTRACTOR: MAINLINE CONTRACTING, INC

ITEM	DESCRIPTION	REASON FOR CHANGE
3		Actual quantity necessary to complete project according to plans and specifications.
4	REMOVE PCC SIDEWALK	Actual quantity necessary to complete project according to plans and specifications.
		None used, seeded instead.
6	SEEDING, FERTILIZING, & MULCHIN	Actual quantity necessary to complete project according to plans and specifications.
7	8" PVC WATER MAIN C-900, CLASS	Actual quantity necessary to complete project according to plans and specifications.
10	TYPE 1 BEDDING	None used.
11	TYPE 3 FOUNDATION MATERIAL	None used.
12	9" WATTLES	None used.
13	EROSION CONTROL, INLET PROTE	Actual quantity necessary to complete project according to plans and specifications.
14	CONCRETE SIDEWALK, 4" NONREIN	Did not have to remove a section.
15	DETECTABLE WARNING PANEL	None used.
18	5 LF OF 16" DIA STEELE CASING	Added casing to extend it to back of curb so we would not have to get into road.
19	8.06 SY CONC. FILLET	Had to remove fillet to get to casing end that was under the fillet.

PREPARED BY: Klare Schroeder, P.E.

DATE: September 22, 2009

	FUNDING TYPE	Wa		
	COST CENTER	09		
	LINE ITEM	43		
	FUND	06	02	
		AMOUNT	PERCENT	
ITEM NO.	DESCRIPTION OF ITEM			
1	MOBILIZATION	0.00	100%	100%
2	INCIDENTAL	0.00	100%	100%
3	REMOVE WATER MAIN	-75.00	100%	100%
4	REMOVE PCC SIDEWALK	-55.00	100%	100%
5	SODDING	-480.00	100%	100%
6	SEEDING, FERTILIZING, & MULCH	390.00	100%	100%
7	8" PVC WATER MAIN C-900, CLAS	-960.00	100%	100%
8	12"X12"X8" TEE AND 4 LF 12" PVC	0.00	100%	100%
9	CONNECT TO EXISTING WATER M	0.00		
10	TYPE 1 BEDDING	-130.00	100%	
11	TYPE 3 FOUNDATION MATERIAL	-250.00		4
12	9" WATTLES	-250.00	100%	100%
13	EROSION CONTROL, INLET PROT	-60.00	100%	100%
14	CONCRETE SIDEWALK, 4" NONRE	-385.00	100%	4
15	DETECTABLE WARNING PANEL	-400.00		4
16	TRAFFIC CONTROL	0.00		-4
17	TRAFFIC CONTROL PLAN	0.00	100%	100%
18	5 LF OF 16" DIA STEELE CASING	1,935.98	100%	100%
19	8.06 SY CONC. FILLET	892.17	100%	ᆏ
		\$173.15		0%